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oo agood

Oo0od | setHorizon, setMaxCpuTime

0000 | addRes, addResource, setResAmount, setResWeight, addMode,
openModeRes, addResAmountOfMode,

closeModeRes, addAct, addActivity, addMode2Act,

setPrecedence, setPrecWithMeantime, setImmediatePrecedence,
addSinkActivity, addCnstrnt, addTerm2Cnstrnt, setSignRightHand
oo solveWithCnstrnt, solve

ooo getActMode, getStartTime
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2.1 short setHorizon(long horizon)
gd: gggd
00: 0000000000000 (-10)

O0: 00000000000000000000000000 102147483647(INTMAX)OOOOODO
ooooooog



O: ret = 00 .setHorizon(365) 000000000030 (0O0OOO0O0OONO)

2.2 short setMaxCpuTime(double cpu_time)
O0: 000000 (0)
00: 0000 (00000000000 (-10)

UbO: 000000b000bO00000b00b0c0ob0o0ooo0ooboooboog 11030 ooooooon
ooooo

O: ret = 00 .setMaxCpuTime(60) 0000000 10000000

2.3 addRes(void)
gd: 0ogd

00: 00 ID(>0)
Jd: doogogooooo

obO: 000000000O0000000bO000b0O00obO0obOOob0cO0 obOobOOoboboobooboooo
oooooooo

: 00

2.4 addResource(long amount)

gbo: 00go

00: 00 ID(>0)

ob: 00b000000000booooog

Ob0: 00000 o0oooOobon

: 00

2.5 setResAmount(short resID, long head, long tail, long amount)
ob: 00Ib000b0obo0ooobooooobooboobooobo

00: 0000 (0000IDOD0O0 (-(11)00000000 (1200000000 (-13) 00000000
(-14)

gbo: 0go0boobooboobooobgo



gbo: 0odboboooboboboboooooboboboboboboooooooobobobo

gooo
O: 00
2.6 setResWeight(short resID, long head, long tail, long weight)
ob0: 00Ib000b0b0o0oobo0boooooobooooooo

00: 0000 (0000IDOD0O0 (-(11)00000000 (1200000000 (-13) 00000000
0 (-14)

gb: 000000000b00ob0oobo0oboooooogoon

gbo: 0odboboooboboboboooooboboboboboboooooooobobobo

googg
: 00
2.7 addMode(long time, short res_num)
dd: dguooobbobbuoooooo
O00: 000ID(>0000000000 (-10)
gb: 00o0oboobood

ob: 0000000O000b00o0boo0ob0oo0oooobooobooooooobooooOoooooboOon
gooooobooooboobobooooobooboboboboooobobooo

g: 0d

2.8 openModeRes (short modeID, short resID)

O0: 000 IbOO0OID

00: 0000 (000000000 (-11)000DO000 (-12)
did: dgoooobbbbobooooooobobooboobooon

ob: 00booocoooIbooboobobooooobobooooobobboobooobobobooooDboo
oood

O: 00



2.9 addResAmount0fMode(long head, long tail, long amount)

obO: 0000000000 b000ooobO0oooonoag

00: 0000000000000 ((11)000IDO0000(-12)00000000 (-(13)000000
00 (1400000000 (-15)

gb: 00000000000000oon

gbo: 0odboboooboboboboooooboboboboboboooooooobobobo

aog
O: 0d
2.10 closeModeRes()
ago: god
00: 0000 (0)
O0: Jooooboboboboooooooooboooon
a0e:
O: 0d
2.11 addAct(void)
ago: god
0O0: 00 ID(>0)
Jd: doogogooooo

go: 0odboboooboboboboboooboboboboboboboboboobobobo
oboooooooboooooogooboaon

: 00

2.12 addActivity (long proc_time )
dod: dgogoooo

0O0: 00 ID(>0)

O0: 100000000000 bO0ob000oo0obobooogooD



O: 00

2.13 addMode2Act(short actID, short modelID)

O0: 00IDOOOOID

00: 0000 (0)000MOD00 (-10)00001DO0000 (-11)
O0: 000o0bo0oooooooo

Od: J00do0b0obo0ouoboooooooooooooa

O: 00

2.14 short setPrecedence(short actl, short act?2)
O0: 0000000 IDO0O0O0OOOO0OID
00:0000(0)00000001ID00 (-11)

obO: 000000bO00bbooooooooo0oooooobooobbooooOoooooooooboOon
gboocoooboooooooboooooon

O: 00 ID1 = 00 .addActivity(7)
00 102 = 00 .addActivity(5)

000000 ID = 00 .setPrecedence(d 0 ID1, OO ID2)

2.15 short setPrecWithMeantime(short actl, short act2, long time)
O0: 0000000 IDOOOC0OO0OO0OIbOO0O0OOO0O0OoOn
00: 0000 (0)0000000IDO0 (-11)

obO: 000000bO00bbooooooooo0oooooobooobbooooOoooooooooboOon

gooobooboobooboobooboboobuoobooboobon

O: 001Dl = 00 .addActivity(7)
OO0 102 = 00 .addActivity(5)

000000 ID = 00 .setPrecWithMeantime(O O ID1, OO ID2, 10)



2.16 short setImmediatePrecedence(short resID, short actID1, short actID2)

00: 00DO0000000IDOO0O0O00000ID
00: 0000 (0000000ID00 ((11)0000000IDO0 (-12)

go: 0dboboboboboooooobooboboboboboooobobobobbbobobo

obb100000o00ob00boooocoodboooooooooboooooboooooooooon

gooooooooboooooobooon
O: g
2.17 short addSinkActivity()
go: 0d
O0: 00O0OoiIbd> oo
ob: 0o0oboobgooboo
of: 0db0bdobb0obboboooboboboboboboboboboboobooon
O: 0ogd
2.18 short addCnstrnt(LPCTSTR name, long weight)
ob: 0db0boobobooboobgoa
O0: 00000 IDO>00000n0oogoo-100
ob: 0o0oboobooboo
go: 0d
O: 0ogd
2.19 short addTerm2Cnstrnt(short kinkID, short actID, short modeID, long coeff)

O0: 0000 (1:000000000000200000000003:00000000004.00000
O000)ooo IboooOoIboooOO

ob0: 00b0ooooobooooonDo
OO0: 0000000000000 O00O0DODO00OOOO00D400D0O

Ob: 00b0b00ob0obo0oboooboobo3oopoobooooboog



: 00

2.20 setSignRightHand(short signID, long rh)
00: 000000000-1:<, 0=, 1:>00000

O0: 000ooooooonooooon

Jdod: dgjgooobobbtooooouoobbbbbooooo
oo: 0dn

O: 00

2.21 solveWithCnstrnt()

ago: god

O0d: doggopoooboboooooo

J0: 0d0ooboboboooooooobooboooobobbbooooo
gd: gogd

O: 00

2.22 solve(long target)

ob: 00b00000b00b00000ob0oon
OO:.00o0ooo0ooooooonon

gbo: 0go0booobooboobooboobuoobooboobooo
gbo: 00go

: 00

2.23 getActMode(short actID)

Ooo: 00dID

O0: 000000000000 000 IDO000000o0oooobDOonoon
gd: dggogoboboboboooooog

gd: ggd

O: 00



2.24 getStartTime(short actID)

OO0: 001D

obO: 0000

obO: 00000000000 b00o0b0cob0ooboooon
obo: 000

: 00
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000000000000000 setHorizon, setMaxCpuTime0 0000000000000 O setHori-
zosnO setMaxCpuTime D OO0 D0 D00 DOOODOODODOO

00000000000 addRes, setResAmount, setResWeight, addMode, openModeRes, addResAmount Of-
Mode, closeModeRes, addAct, addActivity, addMode2Act, setPrecedence, setImmediatePrecedence, addSinkAc-
tivity, addCnstrnt, addTerm2Cnstrnt, setSignRightHandO O OO0 OO0 00O

00000000000addRes0 0000000 O0OOO0ODOOOOODOOO100 addResOO0O
O O setResAmount, setResWeight 0 0 0 00000000000 OOOO0OO00O0O0O0O00O0000000
goooooooo

0000000000 0ODaddModedI D OODODODODODOOODOOOODOODDOIO0DOOOOO
000000000 DO0O00O0DO000DO0ObOO00D0OD openModeRes, closeModeResO O OO ODOOO
0000000000000 D000000D000DOODOopenModeRes, closeModeResD 100000
0000000000 000000000 addResAmountOfMode DO 000000000 OO

00000000000addActD 00000000000 OO0ODOO0OD0OO0OO0O0OID0000000
0000000000000 0addMode2Act 00 0000000000000 O0O0OO0OO0OOOOOOO
00000000000 0oooooooO00dsetPrecedenced 000000 DOODOOOOOOO0O
setImmediatePrecedence 0 0000000000 O0DO0ODOOOOODOODOOODOODODOO

0000000000000 00addSinkActivity D OO 00000 OaddSinkActivity OO O OO OOO

0000000000000 000d0Dd0d addCnstrnt 0000000000000 10000000O

0000000 O0O00000000oooo0ooo0oOfaddTerm2Cnstrnt 000000000000
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OO0000000000OsetSignRightHandO O OO OOOOOOO0OOOOOODOOOOODOOOOOO
goooo0oO0oO0OO0OO0OO0OO0O0OO0O0O0O00000000000000D0D00DODODOODO
O0000O0000 solveWithCnstrnt 0 00O O0OOOO
00000000000 getActMode, getStartTime D 000 000 0 OgetActMode OO0 OO0 OO0

OO000000000O0O0getStartTimeJ OO0 OOO0OOCO0OOOOOO
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